Chap 8-2        Review Worksheet  4                  Name _______________________ Hr ___

1) Define a Double-Displacement Rxn:

the ions of two compounds exchange places


      in an aqueous solution to form two new compounds. 

2) Write the “skeleton”  for a Double-Replacement Rxn:


AX + BY → AY + BX

3) One of the compounds formed is usually one of what three things?


precipitate, insoluble gas, water
4)  Describe how a precipitate forms:


The formation of a precipitate occurs when the cations of one reactant 


                combine with the anions of another reactant
5) Write a double-replacement rxn for the following:


Formation of a precipitate:


2KI(aq) + Pb(NO3)2(aq) → PbI2(s) + 2KNO3(aq)    (PbI2(s) is the precip.)


Formation of a gas:


FeS(s) + 2HCl(aq) → H2S(g) + FeCl2(aq)

Formation of water:


HCl(aq) + NaOH(aq) → NaCl(aq) + H2O(L)
